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fAM: 2=
Mo BN IE
ool AQM ZEX 29 CER-ED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OaataX] =XE Jexdy F4AE T
3,000,000& 3,000
401 Al HIZ 201 I 54,000 174,000 A 120,000
01 A& HI 54,000 174,000 A 120,000
OALe22X A&l 50,000,000& 50,000
OAR4H2Z X OFXIEZHEAIE KX 2t
3,000,000& 3,000
OALQur2 XN JAdH B X2l
1,000, 000& 1,000
AQFSMEHBSH A2 82,928 0 82,928
101 124 dl 8,928 0 8,928
04 JIZHHZ22XREE S 8,928 0 8,928
OBHEHA UL MEOLY 44,6402 x5 x40 8,928
201 Let24d] 24,000 0 24,000
01 At 2teltl 9,000 0 9,000
O0ls4! st&Ea Xt 9,000,000& 9,000
02 =224l 15,000 0 15,000
Oz3zel 2223 15,000, 000& 15,000
307 21201 A 30,000 0 30,000
05 RIZt2IE = 30,000 0 30,000
OSs0lAle |RA2e AEEA 30,000,000 30,000
401 Al HI K 201 I 20,000 0 20,000
01 A& Hl 20,000 0 20,000
OAEE |X2el 20,000,000& 20,000
A AR 380,000 0 380,000
Xl 190,000
Al 190,000
A4 OHEALS 380,000 0 380,000
X 190,000
Al 190,000
401 Al HIZ 201 Y| 380,000 0 380,000
Xl 190,000
Al 190,000
01 A& HI 380,000 0 380,000
O 4H2tZ R HE AL 380,000, 000& 380,000
Xl 190,000
Al 190,000
H4ZIEE HRFA 241,700 203,120 38,580
= 7,500
Xl 11,000
< 25,000
Al 198,200
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2N
X ZH -
L= B

el

e Ao
Ok o fon
[:

O

>
HL 02 H0

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

OU=0 2ZeHHRE M= 12,000, 000& 12,000
Xl 6,000
Al 6,000

SHEOHHER &4 & HES X 10,000 0 10,000
Xl 5,000
Al 5,000

401 Al& Bl 28I 10,000 0 10,000
Xl 5,000
Al 5,000

01 A& HI 10,000 0 10,000

O2ZoHHEXE 214 Y HE+

10,000, 000& 10,000
Xl 5,000
Al 5,000

& A & 2 2A 50,000 10,000 40,000
< 25,000
Al 25,000

201 LBt 50,000 10,000 40,000
< 25,000
Al 25,000

03 A2 Z Hl 50,000 10,000 40,000
Oz HHIEAl ¥ 240 =4 50,000,000& 50,000
= 25,000
Al 25,000

o2 e 977,000 7,226,334 26,249,334

ZIISR ol HE 977,000 7,006,334 26,029,334

201 Let2d] 395,000 0 395,000

01 At 22l 140,000 0 140,000
Oe=229g3 AtR2teldl 40,000,000& 40,000
OEAM Pl 10,000, 000& 10,000
OsE=s ¥ 2 82 40,000,000& 40,000
OCQusIZz )& g ¢ 29 50,000, 000& 50,000

02 22224l 235,000 0 235,000
OZ22322= % HAl 120,000, 000& 120,000
OA&EbEl |Xdl 110,000, 000& 110,000
Oxtg |AlHl 5,000,000& 5,000

03 A2 S HI 20,000 0 20,000
OMZAl 2 HAR2SA 20,000,000& 20,000

202 O4dl 2,000 0 2,000

01 = LH o4 1l 2,000 0 2,000
O#HIx| 0t 2,000,000& 2,000

307 21201 A 530,000 0 530,000

05 RIZt2lEt = 530,000 0 530,000




fAM: 2=
Mo BN IE
el 222 Y CEE-ED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ol g 9| 530,000,000& 530,000
405 TtHabF S| 50,000 0 50,000
01 AL EFSHSHI 50,000 0 50,000
OXt& 2l 30,000,000 30,000
OM2ol mE AMRA JI7 2 HS #E
20,000,000& 20,000
Fatlz=sd ¢ &8 1,365,537 1,521,868 A 156,331
= 173,328
= 37,444
Al 1,154,765
SUHSHY 2 AL XA 325,320 311,626 13,694
< 15,450
Al 309,870
ooz ss29 27,700 27,080 620
201 Let2d] 6,000 5,500 500
01 At 2teltl 3,600 3,000 600
OXgeds slodas =&
100,000 x6H 13| 600
O=zsttl=adAr 2 & XA 3,000,000& 3,000
02 =224l 2,400 2,500 A 100
OOt R0 22l & 2,400,000& 2,400
202 odl 1,700 1,580 120
01 = LH o4 1l 1,700 1,580 120
O2oi=AMN =& & ANz+E 1,700,000 1,700
401 Al HI K 201 20,000 20,000 0
01 A& Hl 20,000 20,000 0
O=23tol=Ad 24| 20,000,000& 20,000
ZEUEES0 s=EH XA 26,000 5,000 21,000
307 glz2tol & 26,000 5,000 21,000
04 QIZFHALALH 2 = 26,000 5,000 21,000
OZHIAULZEXR0 C==0=HM N 26,000
-HAI2E 3 6,000,000& 6,000
-SF0dH & 2,500,000& +8 = 20,000
SESA3E HEXNA 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 QIZFHALAIH E = 15,000 15,000 0
Os4Es8%3 M=K 15,000, 000& 15,000
M= Ol0tE=0 & BHE ZHAWS 50,000 50,000 0
307 21201 A 50,000 50,000 0
04 QIZFHALAIH B = 50,000 50,000 0




=N
2sssy L NE
SHBAY SHHA N

= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
OHM18al 8= OF0tF0l & YHE BAHUS
50,000,000& 50,000
SYTHSE 43 MK 6,000 5,800 200
307 gl2tol & 6,000 5,800 200
04 DIZHHALALSE E X 6,000 5,800 200
OAnl Sotel &5 & A 23X
6,000,000 6,000
R0t 23S XA 48,620 56,746 A8,126
< 9,750
Al 38,870
307 21201 A 48,620 56,746 A 8,126
= 9,750
Al 38,870
04 DIZHHALALSE E X 48,620 56,746 28,126
OX0tit=e E3tegs N 48,620,000 48,620
< 9,750
Al 38,870
L2QEHEH 93,000 93,000 0
307 glz2tol & 93,000 93,000 0
04 DI2HHALALSE E X 93,000 93,000 0
OHM31s A2 93,000
- sSHUS 53,000,000& 53,000
- SFH23H 40,000,000& 40,000
Helz ue ols 19,000 19,000 0
< 5,700
Al 13,300
307 glz2tol & 19,000 19,000 0
< 5,700
Al 13,300
04 QIZFHALAIH B = 19,000 19,000 0
OAHelz ue o= 19,000, 000& 19,000
< 5,700
Al 13,300
HeAZZ dIHE 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 QIZFHALAIH B = 40,000 40,000 0
OM108 HRAEZ XM 40,000,000& 40,000
NG 2st0s SHX 829,550 693,463 136,087
= 173,328
< 16,391
Al 639,831
AMNEEgEe 24 2 X3 132,000 0 132,000
301 L2 A=z 132,000 0 132,000




fAM: 2=
M 2oozss4 2 dE
@42 NItz SN (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
V=t - 2sRS24= 132,000 0 132,000
Ogas 243 132,000, 000& 132,000
ANgolgssy 29 ¢ N& 165,000 165,000 0
201 et 1,000 1,000 0
01 At 22l 1,000 1,000 0
ONEEBSY A AA+Y
100,000 »5H 23] 1,000
301 et a = 164,000 164,000 0
o=t - 2sRSEHS 164,000 164,000 0
Ogads 24= 13,000,000& 128 156,000
ogsE 7Y & =4 3,000,000 3,000
Ol =2l & ¢ 5,000,000 5,000
ANgolgssd 3¢ 3,000 0 3,000
201 Let24E] 3,000 0 3,000
03 At Z I 3,000 0 3,000
OANEESS" ZIIH=3 FHl
3,000,000& 13 3,000
ZIJIE Ol0t= A3 M EIHXA 6,300 4,000 2,300
< 1,815
Al 4,485
307 21201 A 6,300 4,000 2,300
< 1,815
Al 4,485
04 QIZFHALAIH B = 6,300 4,000 2,300
OZJIx Ot0tF0l =M K&
6,300,000& 6,300
< 1,815
Al 4,485
ZIEeEM=H EIHXA 10,000 16,666 N B,666
< 3,000
Al 7,000
307 glz2+ol & 10,000 16,666 N B,666
< 3,000
Al 7,000
04 QIZFHALAIH E = 10,000 16,666 A 6,666
OZJI& e=o=HM EILAR 10,000, 000& 10,000
< 3,000
Al 7,000
NL23ed 84 116,900 84,900 32,000
307 21201 A 116,900 84,900 32,000
02 It HAMHEL 69,700 37,700 32,000
OXg=sta mMgas NA 69,700,000 69,700




EX: S3Hs
Hu: 23 0e84 Y WS
e NYESsttzs s8XE (2 &HH)
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
03 QIZI X EHESIEHIEX 47,200 47,200 0
OXNE2sd 29H & XA 47,200
—QIAHI (AR =2F) 27,300,000 27,300
-1 24 H| (2FA}) 19,900,000 19,900
230z 41 47,200 47,200 0
307 2iztol & 47,200 47,200 0
03 IZIHEESIEHIEX 47,200 47,200 0
OsF&WsEs 224 XA 47,200
—CIAHI (MR Z2F) 27,300,000 27,300
—OIAHI (AP XHE) 19,900, 000& 19,900
S22l EAY 250,500 225,047 25,453
= 173,328
= 11,576
Al 65,596
307 QI2t0| ™ 250,500 225,047 25,453
= 173,328
& 11,576
Al 65,596
02 QI2tAAMAIE E =X 250,500 225,047 25,453
O23t5elale A Y 250,500
= 173,328
&< 11,576
Al 65,596
SE& AlCldzsdis 249 25,400 25,400 0
307 S12t0| & 25,400 25,400 0
02 DI AAIE E X 25,400 25,400 0
OsSH&ALM=CHE 25,400,000& 25,400
Ol 2K &2t 4,000 4,000 0
307 2iz2to| & 4,000 4,000 0
02 QIZIAAAIE E X 4,000 4,000 0
OO0t 28 22tAlY 4,000,000 4,000
AR SSHA| g2t 4,000 4,000 0
307 QI2t0| ™ 4,000 4,000 0
02 Q2B AMAIE E =X 4,000 4,000 0
OAR I8 22ALY 4,000,000 4,000
SSEHO ALH HAlF 2,000 2,000 0
307 212t0| ™ 2,000 2,000 0
04 SIZ2ISHAFALSHE E X 2,000 2,000 0
OESSEH2 AFH &AlIS 2,000,000& 2,000
Z2SHAIY K& 7,000 7,000 0




2AM: 2=
4. 2golzssd & dE
el NHesttlz SHX (el mel)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
307 212t01 & 7,000 7,000 0
02 DIZtZAAMEE X 7,000 7,000 0
OS&AMY K& 7,000,000& 7,000
s&E& 344 Ol=s=0A 4,000 4,000 0
307 212t01 & 4,000 4,000 0
04 QIZbBHAIAIRI 2 = 4,000 4,000 0
Ossd 344 OlsUA 4,000,000 4,000
EAAHS H=ME WA 3,000 3,000 0
307 QI2t0| ™ 3,000 3,000 0
02 DI2HE AAIEE X 3,000 3,000 0
O2FAAHE =MERE 3,000,000 3,000
FAAFZ(ZAULE0I) M= 4,000 4,000 0
307 QI2t0| ™ 4,000 4,000 0
04 QIZ2HSHAFAIRE 2 X 4,000 4,000 0
O=24UL=0l Mzl XS 4,000,000& 4,000
RedS 2 stoted 2 &K 2,000 2,000 0
307 212t01 & 2,000 2,000 0
04 QIZHSHAFAIHE 2 X 2,000 2,000 0
OIS 23 80ty &K 2,000,000 2,000
=24Z&EUE A XA 4,000 4,000 0
307 QI2t01 ™ 4,000 4,000 0
04 QI2FSHALAIE B = 4,000 4,000 0
O=29d&aU3 Nzl XN 4,000,000 4,000
SEEFHAELHAEZ MESAS M NS 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 QI2tSHALAIE E &= 5,000 5,000 0
Or&E=S23 Mzl XS 5,000,000& 5,000
JFE0HLIGIOIE HAEY JHEl X 7,000 7,000 0
307 212t01 & 7,000 7,000 0
04 DIZHSHAFAIRHE 2 X 7,000 7,000 0
OS&& JIEMLIMHOIE HAEY JHEl XA
7,000,000 7,000
Lol 2 HAE otsAH Oz K& 2,250 2,250 0
307 QI2t0| M 2,250 2,250 0
04 DIZHSHAFAIRE 2 X 2,250 2,250 0
Ok & Hald otxsd JHxEl K&
2,250,000& 2,250
@23 A Hx X 2,000 1,000 1,000




EX: S3Hs

Hu: 23 0e84 Y WS

e NYESsttzs s8XE (2 &HH)
_ RE]

SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 2,000 1,000 1,000
04 SIZ2ISHAAIH E & 2,000 1,000 1,000

OY=3dd Mzl X 2,000,000& 2,000

HE s2¢3 ME XN 1,000 1,000 0
307 2izto| A 1,000 1,000 0]
04 QIZ2tSHALALS B X 1,000 1,000 0

OWES2ds Mzl NH 1,000,000 1,000

SAs8E A I 2,000 2,000 0
307 QI2t0| ™ 2,000 2,000 0
04 CIZ2tSHALALS B X 2,000 2,000 0

OsNMEsz 39 & 2,000,000& 2,000

SSEHEESE =M HE 15,000 0 15,000
307 212t0| & 15,000 0 15,000
04 SIZ2ISHAAISH E X 15,000 0 15,000

OHM123 s&& S&u=H 15,000,000 15,000

SOl =AM AlCTe X e JHz NS 5,000 0 5,000
307 2iz2to| A 5,000 0 5,000
04 SIZ2ISHAAISH E & 5,000 0 5,000

Ot =M A=A E W=l X
5,000,000& 5,000
Wae g2 29 208,667 514,779 A 306,112
= 5,603
Al 203,064

gE2 29 149,489 127,279 22,210
101 e1214| 3,572 3,354 218
04 JI2ZtHIZ2Z2NEES 3,572 3,354 218

Op GlEXY U BFIY ALY
44 BA0R 2 %20 1,786
Osga 22F XY oY
44 BA0R 2 %20 1,786
201 et d| 117,150 96,850 20,300
01 AFR 2t 2| bl 25,300 19,000 6,300
Ot 2I A2 22|l 8,500,000& 8,500
Ofldstie s>l 1,500,000 1,500
OStEARA 22 & FAESE 2
3,000,000& 3,000
O&dsx: & =3 HA 1,500,000 1,500
OXHEEEFY & X224 4,000,000& 4 000
OFANRAHHIAIAE 2HH| 3,200,000& 3,200
OFANLSE HHE2 1,200,000 1,200




2AM: 2=
N 2s0sg8 ¥ AE
Sl Ads BEn 2y CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Odgtae =2 1,800,000& 1,800
O&F LD 22l 600,000& 600
02 3524l 87,850 77,850 10,000
ORBHR2 L ALe8s iz 300,000 300
O xt&= Xl dl 5,000,000 5,000
O&Il= 30,000,000& 30,000
O&MIIt™ & &SZI| & SAHl 10,000,000 10,000
Oetsa & ABotd &3l 550,000& 550
OHE L AMEFH RAXAH| 20,000,000& 20,000
O&NAIE RA2elbl 12,000,000& 12,000
ogtg2 AUAFA 10,000,000& 10,000
03 HAFS S HI 4,000 0 4,000
Ot HEA0 S HAI2Y 4,000,000 4,000
202 4] 1,000 1,000 0
01 2LHOHI 1,000 1,000 0
OHIXI0HY L SSEAM 1,000,000& 1,000
301 dEtE A= 27,767 26,075 1,692
11 IIEtE A2 27,767 26,075 1,692
ORSNIASAA BA 44,6403 x2H x311 27,767
B2 AEE4 40,500 387,500 A 347,000
206 M = Hl 7,500 6,500 1,000
01 M= bl 7,500 6,500 1,000
oxdg 458 ¢ Has+g 3,000,000& 3,000
O&AIA L OFEAE 222 3,000,000& 3,000
OZzNEZ gIxel 375,000 =44 1,500
401 Al HI 2L 2 0HHI 33,000 379,000 A 346,000
01 A& HI 33,000 379,000 A 346,000
OdzZ XIs B3 Al 18,000, 000& 18,000
O OIAZAHEH =4 15,000,000& 15,000
IIEHASY (BYLS2 BAXRAL) 18,678 0 18,678
= 5,603
Al 13,075
201 L2 Y| 18,678 0 18,678
= 5,603
Al 13,075
03 At L I 18,678 0 18,678
O=3ga2a ALK 18,678,000& 18,678
& 5,603
Al 13,075
AXE HYa LA 2,000 2,000 0
SEHAHLE =01 L HI| 2,000 2,000 0




EX: S3Hs
My 250a84 ¥ AE
el AME NUMY SN CER-ED
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 2,000 2,000 0
01 AP 22| H| 2,000 2,000 0
Ogx=JHd=E Heldl=s 2,000,000& 2,000
FSMEYE=Z & 2= 259,800 88,600 171,200
& 38,880
Al 220,920
S X222 € 29 227,000 68,400 158,600
& 36,000
Al 191,000
SFESA 22| 16,000 16,000 0
201 LBt 1,000 1,000 0
01 AP 22| H| 1,000 1,000 0
OSERIIMESRIS Soas4=
100,000& x5H x23| 1,000
401 AlEHIZL 2 0HY| 15,000 15,000 0
01 Al&H| 15,000 15,000 0
OSESA 2el & HHlI(100HA)
15,000,000& 15,000
SFEAIES 29 61,000 7,400 53,600
201 gBt2Ay| 6,000 7,400 A 1,400
01 AFR 2t 2| H| 2,000 2,400 A 400
Ogbt4=24| 2,000,000& 2,000
02 B32%H| 4,000 5,000 A 1,000
oNMIIeZ S 4,000,000 4,000
401 Al HI L 2 0HHI 55,000 0 55,000
01 A& HI 55,000 0 55,000
OSEANZ 2 HAS X Z2A 55,000,000 55,000
SEHOe M2 29 30,000 20,000 10,000
201 Bt 12,000 0 12,000
02 =224 H| 12,000 0 12,000
OSEHUE M2 X2
1,000,000 x12& 12,000
307 2Iz2t0| & 18,000 20,000 A 2,000
02 QIZHEAAIRE E X 18,000 20,000 A 2,000
OsSE&H2U M2 29 18,000,000 18,000
HEANE BEZ=XH XNE A 120,000 0 120,000
& 36,000
Al 84,000
402 SI2F X0l M 120,000 0 120,000
& 36,000
Al 84,000




fAM: 2=
FM: FoMg=E € BE
&?: 23 sX2e ¥ 23 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
01 BIZtt2 AL E X 120,000 0 120,000
OXSANE EE=THl XA (KHIHELY)
120,000, 000& 120,000
< 36,000
Al 84,000
=M HsEgs N 32,800 20,200 12,600
< 2,880
Al 29,920
AN RS2 dsgs X& 23,200 20,200 3,000
307 2I2H0I A 23,200 20,200 3,000
02 It S AHE L 23,200 20,200 3,000
Ost=2gdx dsAtd 10,000, 000& 10,000
OSEH 01 MSAL(Al) 13,200, 000& 13,200
T FEIN dsEgs N 9,600 0 9,600
< 2,880
Al 6,720
307 21201 A 9,600 0 9,600
< 2,880
Al 6,720
02 B AAHEX 9,600 0 9,600
OSSHUUR MSAY(E) 9,600,000 9,600
< 2,880
Al 6,720
Hsatd =4 2,013,170 1,976,128 37,042
J| 154,380
< 51,890
Al 1,806,900
MsEAME =4 511,600 470,540 41,060
HsAE Zd 241,600 70,540 171,060
201 Let249] 10,000 10,000 0
01 At 2t 2|l 10,000 10,000 0
OXMsAdsE 22 & 29 10,000, 000& 10,000
401 A& HIZ 201 I 231,600 60,540 171,060
01 A& HI 230,000 60,000 170,000
OMSAEE X & HE=> 230,000
-AHF AR (8MHA) 153,000, 000& 153,000
-ddl 2 E2(30M) 60,000,000& 60,000
-S X 22 (390 4) 17,000, 000& 17,000
03 AIE 2 THHI 1,600 540 1,060
OMSAEE X & HE= 1,600, 000& 1,600
MOAE SL2EHSH HSAE =4 270,000 0 270,000
401 Al HIZ 201 8] 270,000 0 270,000




AN 23HSD
CHEMY =54
el MSAE =4

X ZH
S =

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 270,000 0 270,000
OMAsE 222 HSAE =4
270,000,000& 270,000
=3 XN 366,500 405,440 A 38,940
HEsUs a8 X3 151,500 200,440 A48 ,940
202 044 2,500 1,440 1,060
01 2L I 2,500 1,440 1,060
OMEgEA XY L A& HSAIE HE
2,500,000& 2,500
307 212t0| ™ 149,000 149,000 0
04 SIZ2HSHAAISHE E X 149,000 0 149,000
O3 SHHME & 2,000,000 2,000
OHM97e 8= SHME =H 2,000,000& 2,000
OHMZ273 dII: MEH=E HUEH 48
90,000,000 90,000
OZ3J& & &= MaHs 558 &4
30,000,000 30,000
OZJ1& HUedsls sH 10,000,000& 10,000
OdJIE oo MEHsUa =&
10,000,000& 10,000
O&e 52 M & =03 =&
5,000,000& 5,000
S XA MEUs EdEX 51,000 51,000 0
307 2Iz2t0| A 51,000 51,000 0]
04 SIZ2HSHAALSH E & 51,000 0 51,000
OHY? M=z sd 51,000,000 51,000
ANEH =282 XNEHHS HEXE 80,000 80,000 0
307 2iz2to| & 80,000 80,000 0
04 QIZ2tSHAFALS B X 80,000 80,000 0
Oogetal 2 H MTBLHE i = 80,000,000 80,000
AZD| MEIHEWMSE W K 36,000 34,000 2,000
307 QI2t0| & 36,000 34,000 2,000
04 CIZ2tSHALALS B = 36,000 34,000 2,000
OAMHEI MEH=UI M= 36,000,000 36,000
8.15 2208 32018 MHAXNE 5,000 5,000 0
307 QI2t0| & 5,000 5,000 0
04 CIZ2tSHALALS B X 5,000 5,000 0
08.15 25718 =320U13 M=l 5,000,000& 5,000
28 H=x K& 10,000 10,000 0
307 2Iz2t0| A 10,000 10,000 0




2N 2HMSH
N MsNY |4

&??: M XA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 DIZHH AL AR 2 & 10,000 10,000 0
OZ&thal = 10,000, 000& 10,000
SA&=FUE XX 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
O=s4d d==2Usl Nz 10,000, 000& 10,000
=M Edigeld thal izl XA 20,000 0 20,000
307 21201 A 20,000 0 20,000
04 DIZFSHALAIRI B X 20,000 0 20,000
OHM23 =2H Edidadd U3 Nzl XN
20,000,000& 20,000
H2sl SEEsSFEH 825U 3,000 0 3,000
307 21201 A 3,000 0 3,000
04 QIZFHALAIH B = 3,000 0 3,000
OXN2sl SEEsFAM d=2=2U3 Mzl
3,000,000& 3,000
AEsZIIR 29 500,000 532,000 A 32,000
ANZHE 23308 29 500,000 532,000 A 32,000
301 et d s 500,000 532,000 A 32,000
V=t - 2sR2SE43 500,000 532,000 A 32,000
ONZHZSSHIIR 2Y(LYE)
500,000,000& 500,000
HEW=SsEg2dssd & HEMEAE 635,070 568, 148 66,922
J| 154,380
< 51,890
Al 428,800
HEH=SE2AG 29 172,950 136,500 36,450
201 £B-2d| 11,500 11,300 200
01 At 22l 3,600 4,000 A 400
OMsSTEEIS 3Y&#A ¢
100,000 »8H »23| 1,600
OM=sgdA 222 H& & =&t
2,000,000& 2,000
02 =24l 7,900 7,300 600
O=EX& KX 4,000,000& 4,000
OBEQIBNEDE ool 248
1,800,000& 1,800
Oggrsr 2 H MTBLHE S HIOIX =Xl 2tel
2,100,000& 2,100
307 glz2+ol & 131,450 125,200 6,250
03 SIAHNHE2IHIEE 116,250 80,000 36,250




EX: S3Hs
HEM: ALY 4
el MENSHINS L MEHSAE CUR-E)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OA M=3 4 X 85,000
-1 24 H|(29) 74,551,000 74,551
-EAZHEHZ 5,143,000 5,143
-BEHRY=2 S 5,306,000 5,306
OAl M=3 29 X& 13,250,000 13,250
OMEHEXNECX 4 XN
150,000& 108 x12& 18,000
04 CIZ2tSHALALS B = 15,200 0 15,200
OB EZAIgEE 24 15,200,000 15,200
308 AMXISHMSOIA 30,000 0 30,000
08 m=sJl&HtistE=x 30,000 0 30,000
O2+i=s s4Xd 30,000,000 30,000
MEHSIWA ME2H 20,000 14,000 6,000
307 2Iz2t0| & 20,000 10,000 10,000
04 SIZ2ISHAAISH E & 20,000 10,000 10,000
OMEHSLA ALDSA(1B =)
20,000,000 20,000
NACe MEHSXER X 271,920 243,648 28,272
J| 122,040
= 44,960
Al 104,920
307 2I2t0| A 271,920 243,648 28,272
J| 122,040
= 44,960
Al 104,920
04 SIZ2HSHAAISH E & 271,920 243,648 28,272
OXecte Metd<s XX Xl
2,266,000 «x10H ~12& 271,920
J| 122,040
& 44,960
Al 104,920
MENE ANEXH2Y 24,000 24,000 0
301 et A= 24,000 24,000 0
11 JIEtE A= 24,000 24,000 0
O2F=HESXNEA 29 500,000 x4 x12& 24,000
AINCHE BHESE 100,000 100,000 0
307 2iz2tol A 100,000 100,000 0
04 SIZ2ISHAAISH E & 100,000 100,000 0
OHM62s HIIEAHESUE & 100,000,000 100,000
MUK AYAS 46,200 50,000 A 3,800
J| 32,340
& 6,930
Al 6,930




A 2SS
N MsNY |4
gMsgoasd & dEHNIAA A HH)

- _ _ RE]
SA BB (3H) - NRAY - B %Ei 2t
301 Bt A= 46,200 50,000 A 3,800
J| 32,340
& 6,930
Al 6,930
11 JIEtE A= 46,200 50,000 A 3,800
OMSHIRSH(AZ=2Z 0|22 )AIHAY
70,0002 *110H 6 & 46,200
J| 32,340
& 6,930
Al 6,930
HHSHAY (2SS ) 48,640 36,760 11,880
AU (23 M) 48,640 36,760 11,880
=224 (2stAd ) 48,640 36,760 11,880
201 et d| 11,800 8,800 3,000
01 AFR 2t 2| bl 11,800 8,800 3,000
OBANSI A2 22| 11,800,000& 11,800
202 04 H| 32,640 24,960 7,680
01 2L I 32,640 24,960 7,680
OJI2gea=sd (17H) 32,640,000 32,640
203 €2 F=&d| 4,200 3,000 1,200
04 ENSHELRF=XH| 4,200 3,000 1,200
OBAN2EAR2=XH| (3002 0l5})
350,000 x12& 4,200




